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302-GC-12: D‘?CISI()N SCIENCE
{?Ql 9 Pattﬂm) (Semester - II1)

Time : 2% Hoursj
Instructions to the can
1) Each questi

ive of the following.

\
) Deﬁne critical pathl
-~ h) Listelements of qugsing
: 02) Solve any two of tl‘@fw '[2x5=19]
a) Digfls Qt decision enviornment in Decision Theory.

| DeSgribe role of linear programming problem (LPP) in matiagerial decision

aking. , |
Determine the initial solution of following transporfation problem using
- North West Corner Method , o
, : Destinations

% Sources DI D2
~ S1 19 30
S2 40 8
83 | 30 20
Demand 1 05 08

PTO.



Solve any One of the following. i1x10=1¢
a)  Solve the following game by usmg ‘principle of dominance.,
Player B |
BI.B2 B B4

Al 4448 12
Player A ¥ 2 1
6 16

12 10

P b) Fo“Howmg data is related to frequency of stu'
of 0] 5] 10

Frequency 42

- Simulate the students absenteelsmi
. absentee1sm Use the follow1

87,05, 30, 53, 89, 61, p 55

ext 10 0 weeks Aiso find out average
umbers

~04) Solve any one ‘offonowin | ~ [1x19= 10]
s é) A computer centr 50t 1 rf\vpxper* programmes The centre needs
’ four applicatio y _7 afhmes. to be develop. The head of computer centre
after studying cafe ’ly pmgrammes to be developed estimes computer

time (in hr@red by He respective experts to develop the apphcatlon

folhw *

Programmes
| A B C p
Programiners 1 120 .IOO” 80 90
280 90 100 70
3 120 140 120 100
4 9 90 g0 a

Assign programmers to the programmes i
time is m1n1m1ze

cha way that total computer
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b) The profit of organized retail outletis Qpprnxuuabsly normally distributed

with mean Rs. 4400 & standard dev1at1on Rs. 620
Find associated probabi htjy Qf vaﬁt
i)  More than 3300

1) lessthan 5400

<1.77]=0.4616

"P0 < Z < 1.45] = 0.4263

Act1v1ty

Time in Dasy

 Immediate | B C E
predecesso B :

Dras @dmgram dentlfy Critical Path
| % onan avemgy

e Cheque. The staff at the only payment counter ta
prving a customer on an average.

ev er} 15 minutes one customer arrives forxashmg
10 mirutes for

' Find
i)  average queuelength.

i) - Increase in arrival rate for justifyin, nd counter.
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